

Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.505000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.505000000 GHz LNI PASS CF Step 1 Graph 6.900000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 69.000 MHz 2001 pts Disp Center 2.50500 GHz Chan Det: Average, #Offs Det: Average Power 22.50 dBm / 10 MHz Lower Upper Start Freq Stop Freq 6.000 MHz Integ BW dBm ΔLimit(dB) Freq (Hz) dBm ∆Limit(dB) Freq (Hz) (-9.11) (-5.94) (-4.78) (-12.57) -19.11 -15.94 5.000 MHz 200.0 kHz -5.010 M 9.000 MHz 6.000 MHz 1.000 MHz -6.000 M 9.000 MHz 14.50 MHz 1.000 MHz -17.78 -9.083 M Local 14.50 MHz 34.50 MHz 1.000 MHz -37.57 -14.50 M 34.50 MHz 15.00 MHz -19.10 (-69.10) 5.000 M 5.000 MHz 270.0 kHz 1 000 MHz May 31, 2024 2:06:08 PM

Low Channel Edge Plot (10 MHz BPSK)-1

F-TP22-03 (Rev. 06) Page 359 of 455



Low Channel Edge Plot (10 MHz BPSK RB 1)-2 Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.505000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.505000000 GHz ₩ PASS CF Step 1 Graph 4.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 40.000 MHz 2001 pts Disp Center 2.50500 GHz Chan Det: Average, #Offs Det: Average 22.39 dBm / 10 MHz Lower Upper Start Freq Stop Freq 6.000 MHz dBm Integ BW dBm ΔLimit(dB) Freq (Hz) ΔLimit(dB) Freq (Hz) 5.000 MHz 30.00 kHz -55.48 5.060 M (-45.48)6.860 M 10.00 MHz -40.46 (-30.46) 6.000 MHz 1.000 MHz 10.00 MHz 15.00 MHz 1.000 MHz -37.14 (-24.14) 13.75 M Local 15.00 MHz 20.00 MHz 1.000 MHz -46.39 15.00 M (-21.39)20.00 MHz 15.00 MHz 150.0 kHz -25.67 (-75.67) -5.000 M 5.000 MHz (----) 1 000 MHz

May 31, 2024 2:08:01 PM

F-TP22-03 (Rev. 06) Page 360 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.505000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.505000000 GHz *₽* PASS CF Step 1 Graph 4.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 40.000 MHz 2001 pts Disp Center 2.50500 GHz Chan Det: Average, #Offs Det: Average 22.52 dBm / 10 MHz Lower Upper dBm -20.36 Start Freq Stop Freq 6.000 MHz Integ BW dBm ΔLimit(dB) Freq (Hz) ΔLimit(dB) Freq (Hz) 5.000 MHz (-10.36) 200.0 kHz 5.000 M 10.00 MHz (-6.53) (-6.33) (-13.00) 8.800 M 6.000 MHz 1.000 MHz -16.53 10.00 MHz 15.00 MHz 1.000 MHz -19.33 10.00 M Local 15.00 MHz 20.00 MHz 1.000 MHz -38.00 15.03 M 20.00 MHz 15.00 MHz 150.0 kHz -20.34 (-70.34) -5.000 M 5.000 MHz (---) 1 000 MHz

May 31, 2024 2:06:47 PM

Low Channel Edge Plot (10 MHz BPSK)-2

F-TP22-03 (Rev. 06) Page 361 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.535000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.535000000 GHz ₩ PASS CF Step 1 Graph 4.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 40.000 MHz 2001 pts Disp Center 2.53500 GHz Chan Det: Average, #Offs Det: Average 22.62 dBm / 10 MHz Lower Upper Start Freq Stop Freq 6.000 MHz dBm -25.00 Integ BW Freq (Hz) 5.000 M dBm ΔLimit(dB) Freq (Hz) ΔLimit(dB) (-11.82) (-11.74) 5.000 MHz -5.005 M (-15.00) 200.0 kHz -21.82 -21.74 -25.72 10.00 MHz -6.700 M (-8.88) (-10.13) 8.640 M 6.000 MHz 1.000 MHz -18.88 10.00 MHz 15.00 MHz 1.000 MHz (-12.72) -10.00 M -23.13 10.00 M Local 15.00 MHz 20.00 MHz 1.000 MHz -17.80 M -38.97 (-13.97) 15.00 M -38.64 (-13.64)12.50 MHz 15.00 MHz 1.000 MHz 8.000 MHz (---) 1 000 MHz

May 31, 2024 2:12:19 PM

Mid Channel Edge Plot (10 MHz BPSK)

F-TP22-03 (Rev. 06) Page 362 of 455





High Channel Edge Plot (10 MHz BPSK RB 1)

F-TP22-03 (Rev. 06) Page 363 of 455





High Channel Edge Plot (10 MHz BPSK)

F-TP22-03 (Rev. 06) Page 364 of 455



Low Channel Edge Plot (15 MHz BPSK RB 1)-1 Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.507500000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.507500000 GHz ₩ PASS CF Step 1 Graph 7.400000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 74.000 MHz 2001 pts Disp Center 2.50750 GHz Chan Det: Average, #Offs Det: Average 22.40 dBm / 15 MHz Lower Upper Start Freq Stop Freq 8.500 MHz Integ BW dBm ΔLimit(dB) Freq (Hz) dBm ∆Limit(dB) Freq (Hz) (-30.36) (-25.66) -40.36 7.500 MHz 30.00 kHz -7.525 M 11.50 MHz -9.460 M 8.500 MHz 1.000 MHz -35.66 -13.98 M 11.50 MHz 17.00 MHz 1.000 MHz -38.86 (-25.86) Local 17.00 MHz 37.00 MHz 1.000 MHz -47.41 -17.10 M (-22.41)7.500 MHz 12.50 MHz 37.00 MHz 15.00 MHz -39.09 (-89.09) 21.14 M 270.0 kHz 1 000 MHz

May 31, 2024 2:18:47 PM

F-TP22-03 (Rev. 06) Page 365 of 455



Low Channel Edge Plot (15 MHz BPSK)-1 Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.507500000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.507500000 GHz *₽* PASS CF Step 1 Graph 7.400000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Ahsalistellimi Freq Offset 0 Hz Span 74.000 MHz 2001 pts Disp Center 2.50750 GHz Chan Det: Average, #Offs Det: Average 22.58 dBm / 15 MHz Lower Upper Start Freq Stop Freq 8.500 MHz Integ BW dBm ΔLimit(dB) Freq (Hz) dBm ∆Limit(dB) Freq (Hz) -7.505 M -8.500 M (-10.46) (-10.73) 7.500 MHz 300.0 kHz -20.46 11.50 MHz -20.73 -22.26 8.500 MHz 1.000 MHz 11.50 MHz 17.00 MHz 1.000 MHz -12.19 M (-9.26)Local 17.00 MHz 37.00 MHz 1.000 MHz (-2.33) -17.00 M -27.33 7.500 MHz 12.50 MHz 37.00 MHz 15.00 MHz -24.91 (-74.91) 11.48 M 270.0 kHz 1 000 MHz

May 31, 2024 2:17:34 PM

F-TP22-03 (Rev. 06) Page 366 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.507500000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Trig: Free Run Gate: Off IF Gain. Low Atten: 20 dB Preamp: Off KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.507500000 GHz ₩ PASS CF Step 1 Graph 6.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 60.000 MHz 2001 pts Disp Center 2.50750 GHz Chan Det: Average, #Offs Det: Average Power 22.40 dBm / 15 MHz Lower Upper Start Freq Stop Freq 8.500 MHz dBm Integ BW dBm ΔLimit(dB) Freq (Hz) ΔLimit(dB) Freq (Hz) -55.07 (-45.07) (-31.50) (-24.19) 7.500 MHz 30.00 kHz 8.255 M 12.50 MHz -41.50 8.500 MHz 1.000 MHz 10.94 M 12.50 MHz 22.50 MHz 1.000 MHz -37.19 21.10 M Local 22.50 MHz 30.00 MHz 1.000 MHz -47.01 23.59 M (-22.01)7.500 MHz 12.50 MHz 30.00 MHz 15.00 MHz -27.75 (-77.75) -7.500 M 220.0 kHz (---) 1 000 MHz

May 31, 2024 2:19:25 PM

Low Channel Edge Plot (15 MHz BPSK_RB1)-2

F-TP22-03 (Rev. 06) Page 367 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.507500000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.507500000 GHz ₩ PASS CF Step 1 Graph 6.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 60.000 MHz 2001 pts Disp Center 2.50750 GHz Chan Det: Average, #Offs Det: Average Power 22.57 dBm / 15 MHz Lower Upper dBm -24.54 Start Freq Stop Freq 8.500 MHz Integ BW Freq (Hz) dBm ΔLimit(dB) Freq (Hz) ∆Limit(dB) (-14.54) (-10.28) 7.500 MHz 300.0 kHz 7.510 M 12.50 MHz -20.28 11.46 M 8.500 MHz 1.000 MHz (-7.51) (-14.63) 12.50 MHz 22.50 MHz 1.000 MHz -20.51 13.10 M Local 22.50 MHz 30.00 MHz 1.000 MHz -39.63 23.29 M 7.500 MHz 12.50 MHz 30.00 MHz 15.00 MHz -21.96 (-71.96) -7.500 M 220.0 kHz (----) 1 000 MHz

May 31, 2024 2:18:12 PM

Low Channel Edge Plot (15 MHz BPSK)-2

F-TP22-03 (Rev. 06) Page 368 of 455



Mid Channel Edge Plot (15 MHz BPSK) Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.535000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.535000000 GHz ₩ PASS CF Step 1 Graph 6.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 60.000 MHz 2001 pts Disp Center 2.53500 GHz Chan Det: Average, #Offs Det: Average Power 22.65 dBm / 15 MHz Lower Upper Start Freq Stop Freq 8.500 MHz Integ BW dBm Freq (Hz) ΔLimit(dB) Freq (Hz) dBm ΔLimit(dB) (-13.32) (-10.73) (-10.45) -23.46 (-13.46) -23.32 -7.505 M 7.500 MHz 300.0 kHz 7.645 M (-8.81) (-7.15) (-16.93) 12.50 MHz -20.73 -23.45 -8.540 M 8.540 M 8.500 MHz 1.000 MHz -18.81 12.50 MHz 22.50 MHz 1.000 MHz -14.05 M -20.15 13.50 M Local 22.50 MHz 30.00 MHz 1.000 MHz (-16.91) -23.25 M -41.93 22.50 M -41.91 12.50 MHz 15.00 MHz 1.000 MHz 8.000 MHz (----) 1 000 MHz

May 31, 2024 2:23:44 PM

F-TP22-03 (Rev. 06) Page 369 of 455





High Channel Edge Plot (15 MHz BPSK RB 1)

F-TP22-03 (Rev. 06) Page 370 of 455





High Channel Edge Plot (15 MHz BPSK)

F-TP22-03 (Rev. 06) Page 371 of 455



Low Channel Edge Plot (20 MHz BPSK RB 1)-1 Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.510000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Trig: Free Run Gate: Off IF Gain. Low Atten: 20 dB Preamp: Off KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.510000000 GHz ₩ PASS CF Step 1 Graph 7.900000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Ahsalistellimi Freq Offset 0 Hz Span 79.000 MHz 2001 pts Disp Center 2.51000 GHz Chan Det: Average, #Offs Det: Average 22.42 dBm / 20 MHz Lower Upper Start Freq Stop Freq 11.00 MHz 14.00 MHz Integ BW dBm ΔLimit(dB) Freq (Hz) dBm ∆Limit(dB) Freq (Hz) (-33.21) (-24.71) (-27.51) 10.00 MHz -10.00 M 30.00 kHz -43.21 -11.02 M -18.95 M -34.71 11.00 MHz 1.000 MHz 14.00 MHz 19.50 MHz 1.000 MHz -40.51 Local 19.50 MHz 39.50 MHz 1.000 MHz -43.35 (-18.35)-19.50 M 39.50 MHz 15.00 MHz -40.31 (-90.31) 28.36 M 10.00 MHz 270.0 kHz 1 000 MHz

May 31, 2024 2:30:01 PM

F-TP22-03 (Rev. 06) Page 372 of 455





Low Channel Edge Plot (20 MHz BPSK)-1

F-TP22-03 (Rev. 06) Page 373 of 455



Low Channel Edge Plot (20 MHz BPSK_RB1)-2 Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.510000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Trig: Free Run Gate: Off IF Gain. Low Atten: 20 dB Preamp: Off KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.510000000 GHz ₩ PASS CF Step 1 Graph 8.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 80.000 MHz 2001 pts Disp Center 2.51000 GHz Chan Det: Average, #Offs Det: Average 22.43 dBm / 20 MHz Lower Upper Start Freq Stop Freq 11.00 MHz dBm Integ BW dBm ΔLimit(dB) Freq (Hz) ΔLimit(dB) Freq (Hz) 10.00 MHz 30.00 kHz -56.06 (-46.06)10.19 M 11.00 MHz 15.00 MHz -39.99 (-29.99) 13.62 M 1.000 MHz 15.00 MHz 30.00 MHz 1.000 MHz (-24.67) 28.35 M -37.67 Local 30.00 MHz 40.00 MHz 1.000 MHz (-21.74) 30.00 M -46.74 40.00 MHz 15.00 MHz -31.05 (-81.05) -10.00 M 10.00 MHz 270.0 kHz 1 000 MHz

May 31, 2024 2:30:40 PM

F-TP22-03 (Rev. 06) Page 374 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.510000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.510000000 GHz ₩ PASS CF Step 1 Graph 8.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 80.000 MHz 2001 pts Disp Center 2.51000 GHz Chan Det: Average, #Offs Det: Average Power 22.61 dBm / 20 MHz Lower Upper Integ BW 430.0 kHz dBm Start Freq Stop Freq 11.00 MHz dBm ΔLimit(dB) Freq (Hz) ΔLimit(dB) Freq (Hz) (-11.22) (-7.21) (-5.71) (-10.31) -21.22 -17.21 -18.71 10.00 MHz 10.00 M 11.50 M 11.00 MHz 15.00 MHz 1.000 MHz 30.00 MHz 15.00 MHz 1.000 MHz 16.43 M Local 30.00 MHz 40.00 MHz 1.000 MHz -35.31 30.00 M 40.00 MHz 15.00 MHz -22.89 (-72.89) -10.00 M (---) 10.00 MHz 270.0 kHz 1 000 MHz

May 31, 2024 2:29:27 PM

Low Channel Edge Plot (20 MHz BPSK)-2

F-TP22-03 (Rev. 06) Page 375 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.535000000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.535000000 GHz ₩ PASS CF Step 1 Graph 8.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 80.000 MHz 2001 pts Disp Center 2.53500 GHz Chan Det: Average, #Offs Det: Average 22.68 dBm / 20 MHz Lower Upper Integ BW 430.0 kHz dBm -24.84 Start Freq Stop Freq 11.00 MHz Freq (Hz) -10.00 M dBm ΔLimit(dB) ΔLimit(dB) Freq (Hz) (-13.27) (-13.96) (-14.84) (-14.4<u>0</u>) 10.00 MHz -23.27 10.02 M 11.04 M 17.78 M -11.00 M -18.15 M 15.00 MHz -24.40 11.00 MHz 1.000 MHz -23.96 15.00 MHz 30.00 MHz 1.000 MHz -26.64 (-13.64) -24.62 (-11.62) Local 30.00 MHz 40.00 MHz 1.000 MHz -44.86 -30.65 M -43.96 (-18.96) 30.15 M (-19.86)12.50 MHz 15.00 MHz 1.000 MHz 8.000 MHz (---) 1 000 MHz

May 31, 2024 2:35:03 PM

Mid Channel Edge Plot (20 MHz BPSK)

F-TP22-03 (Rev. 06) Page 376 of 455





High Channel Edge Plot (20 MHz BPSK RB 1)

F-TP22-03 (Rev. 06) Page 377 of 455





High Channel Edge Plot (20 MHz BPSK)

F-TP22-03 (Rev. 06) Page 378 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.512500000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.512500000 GHz ₩ PASS CF Step 1 Graph 8.400000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 84.000 MHz 2001 pts Disp Center 2.51250 GHz Chan Det: Average, #Offs Det: Average 22.42 dBm / 25 MHz Lower Upper Start Freq Stop Freq 13.50 MHz Integ BW dBm ΔLimit(dB) Freq (Hz) dBm ∆Limit(dB) Freq (Hz) (-35.52) (-25.50) -12.50 M -45.52 12.50 MHz 30.00 kHz 16.50 MHz -35.50 13.50 MHz 1.000 MHz -14.25 M 16.50 MHz 22.00 MHz 1.000 MHz -44.83 (-31.83) -17.49 M Local 22.00 MHz 42.00 MHz 1.000 MHz -38.84 (-13.84) -23.80 M 42.00 MHz 15.00 MHz -40.44 (-90.44) 35.72 M 12.50 MHz 270.0 kHz 1 000 MHz

May 31, 2024 2:41:42 PM

Low Channel Edge Plot (25 MHz BPSK RB 1)-1

F-TP22-03 (Rev. 06) Page 379 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.512500000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Atten: 20 dB Preamp: Off Trig: Free Run Gate: Off IF Gain. Low KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.512500000 GHz *₽* PASS CF Step 1 Graph 8.400000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Specti Span 84.000 MHz 2001 pts Disp Center 2.51250 GHz Chan Det: Average, #Offs Det: Average Power 22.61 dBm / 25 MHz Lower Upper Integ BW 510.0 kHz Start Freq Stop Freq 13.50 MHz dBm -20.52 ΔLimit(dB) Freq (Hz) dBm ∆Limit(dB) Freq (Hz) -12.50 M (-10.52) 12.50 MHz -21.10 -27.65 (-11.10) (-14.65) 16.50 MHz -13.53 M 13.50 MHz 1.000 MHz 16.50 MHz 22.00 MHz 1.000 MHz -16.50 M Local 22.00 MHz 42.00 MHz 1.000 MHz (-4.40) -23.60 M -29.40 42.00 MHz 15.00 MHz -24.12 (-74.12) 12.50 M 12.50 MHz 270.0 kHz 1 000 MHz May 31, 2024 2:40:29 PM

Low Channel Edge Plot (25 MHz BPSK)-1

F-TP22-03 (Rev. 06) Page 380 of 455



Spectrum Analyzer 1 SEM + Frequency Center Freq: 2.512500000 GHz Avg|Hold: 100.00% of 20 Radio Std. None Input Z: 50 Ω Trig: Free Run Gate: Off IF Gain. Low Atten: 20 dB Preamp: Off KEYSIGHT Input: RF Center Frequency Settings Corr CCorr Freq Ref. Int (S) NFE: Adaptive Align. Auto 2.512500000 GHz ₩ PASS CF Step 1 Graph 10.000000 MHz Ref LvI Offset 27.37 dB Ref Value 30.0 dBm Scale/Div 10 dB Auto Man Freq Offset 0 Hz Span 100.00 MHz 2001 pts Disp Center 2.51250 GHz Chan Det: Average, #Offs Det: Average 22.42 dBm / 25 MHz Lower Upper dBm -53.04 Start Freq Stop Freq 13.50 MHz Integ BW dBm ΔLimit(dB) Freq (Hz) ∆Limit(dB) Freq (Hz) 12.50 MHz 30.00 kHz (-43.04)12.50 M 17.50 MHz (-32.19) 13.86 M 13.50 MHz 1.000 MHz -42.19 37.50 MHz 1.000 MHz -38.02 (-25.02) 35.70 M 17.50 MHz Local 37.50 MHz 50.00 MHz 1.000 MHz -44.76 37.75 M (-19.76)50.00 MHz 15.00 MHz 12.50 MHz 360.0 kHz -30.02 (-80.02) -12.50 M 1 000 MHz May 31, 2024 2:42:19 PM

Low Channel Edge Plot (25 MHz BPSK_RB1)-2

F-TP22-03 (Rev. 06) Page 381 of 455